RMSEE

— HAERE (kg)
4A 54 64 7H 8A 97 108 118 128 1A 2A 3A &5t
BT A 754,030| 843,610 836,500| 885,570 832,120 4,151,830
(BASWLT) 481,050 526,060| 521,950 539,680 501,070 2,569,810
(BRE) | BT) 272,980| 317,550 314,550| 345,890 331,050 1,582,020
P E T H 28,800|  37,150| 30,760  24,100| 30,960 151,770
(BASWLT) 18,100/ 20,390 21,850| 17,620 19,370 97,330
(BRE) | BT) 10,700 16,760 8,910 6,480| 11,590 54,440
AT H 26,490| 26,080 29,410 29,660| 26,920 138,560
(BASWLT) 16,310 18,020 19,920| 19,870 17,160 91,280
(BBF) 1| ET) 10,180 8,060 9,490 9,790 9,760 47,280
==l 2,990 0 1,350 1,630 1,320 7,290
(FrES L) 1,570 0 1,330 0 1,320 4,220
(BRE) 11 #7) 1,420 0 20 1,630 0 3,070
BERY) 94,600 117,510| 94,220 104,970| 94,370 505,670
(BASWLT) 55,130 64,820 48,850| 58,670| 49,090 276,560
(BB 1| BT) 39,470| 52,690| 45,370 46,300| 45,280 229,110
(BRASLTH) 572,160| 629,290 613,900| 635,840 588,010 3,039,200
(BRI HT) 334,750| 395,060 378,340| 410,090 397,680 1,915,920
& Hi 906,910| 1,024,350 992,240| 1,045,930 985,690 4,955,120
BEHIE G (ke)
47 5AR 67 7R 8AH 9A 10A 11H 12A4 1A 2R 3R &t

A% 486,410 476,750| 583,290 475,500 693,380 2,715,330
B% 486,990 499,450| 323,800 491,300 264,750 2,066,290
& 5 973,400| 976,200[ 907,090| 966,800 958,130 4,781,620
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ELARITRAT 2BEH ZRE

BNT 7 48 AH
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% h 5 PE & N B HE AT R B — LR R R ZEZEAO
A%

AIEE R {7 47 58 68 78 8H 95 108 11A 128 18 28 38 HE(E
WAIEZE R D IRIBEH X R °C 860 866 865 878 863 800°CL k£
ELCARICHRAT 28EH XRE °C 184 181 178 181 180 200°CLLF
R b & NN B O—BALHFRE|  ppm 15| 102 76 55| 105 o)
B%

BIEEE BT 48 58 6A 78 8H 9H 108 118 128 18 28 38 HHfE
WRIGEZE R D IRIGEH B °C 899 891 890 883 883 800°CU E
ELCABICHRANT 2EEH BE °C 185 180 178 180 181 200°CLLF
B SHEM S N HEH R D — B R ppm 74 21 27 43 61 Lh

(100ppm L)
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B A
IEWLA (g/Nm)
mEBRY (KE)
ZHEY (ppm)
'1bkFE (mg/Nm)
XA F x> F8(ng/TEQ/Nm)
C HBEDHIER
X o R5.5.11 R5.8.3
i’ ) 42.0% 48.5%
E=—— 48 21.5% 24.7%
il b 13.6% 1.7%
= BIEEER PN ) 10.7% 8.8%
B v #& 10.8% 9.1%
7 b= 0.8% 0.6%
TR 38 0.3% 0.3%
z O 0.3% 0.3%




